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K = 5���� �	 ������� ������� ��� �	   
K = 3����� ������� !" ������� ��� �	   
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��*+�� ,�- :Hz 2 100 = kHz 2,1  

  
  

2K10A2AAN  
 ���� ��7��8 9;�#�<� >��< �����
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Bn = M  �2'� ..�8 @A%� �� =Hz 2 110 

2 110 = M 

��*+�� ,�- :Hz 2 110 = kHz 2,11  
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$-�C 
'	�6

 ��*<) >�*DE� F$GA8) ..����
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'	�6 
��	) �$6) ?<��

)��$6) ��+%(  

Bn = 2M + 2DK 

M  =
B

2
   

50 = B 

Hz 35 = D )B6J 
6Hz 70(  
1,2 = K 

 ��*+�� ,�- :Hz 134  
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 ..��� ���+#�� .�7�	 �����
 K7�) >�*DE� F$GA8) ��A��

 L$�#�� M�N�0� �.�7	 ���+#��
 
'	�6) �$6) ?<�� ��*<) �	B��

 
O�P  

Bn = QB(�	 ..�8 @'-�  DK + M +  

M =
B

2
    

  

15��+%   
 QB(�	 ..�8 @'-�Hz 2 805 = 

B = 100  
D = 42,5 Hz)  
6B6JHz 85(  
K = 0,7 

��*+�� ,�- :kHz 2,885 = Hz 2 885  
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 R).B	 ?<�� ��*< �
�8�S	) ��+%
��$6)(  

Bn = 2M  M = 3 000 

��*+�� ,�- :kHz 6 = Hz 6 000  
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 ��$6) ?<�� ��*< �
�8�S	
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	�8 
'	�6)��$6) ��+%(  
Bn = M M = 3 000  

��*+�� ,�- :kHz 3 = Hz 3000 

  
3K00H3EJN 

 ��$6) ?<�� ��*< �
�8�S	 
��	
 
8��5	 
'	�6)��$6) ��+%(  

Bn = − M �$52�'� ..�8 T.�  M = 3 000 

 �$52�'� ..�8 T.�Hz 300 = 

��*+�� ,�- :kHz 2,7 = Hz 2 700  

  
 

2K70J3EJN  
�U� 
�8�S	 
'52	 
'A�+	 ����

 ����0� 
V�N & L5G�'� ..�����
 
'52�� 
$8�A�� ��$6) ?<�� ��*<

 
O�P 
'	�6 
��	(Lincompex) 
)��$6) ��+%(  

Bn = M  L5G�'� ..�8 @A%�Hz 2 900 = 

M = 2 990 

��*+�� ,�- :kHz 2,99 = Hz 2 990 
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�8�S	 ?<�� ��*< �
V���� J�SW 

 
8��5	 
'	�6 
��	 ��$6)
)�X(� )� Y�8�+%(  

Bn=  − NcM ��+#�� & �$52�'� ..�8 T.� 
T.E�  

Nc = 2 

M = 3 000 

 �$52�'� ..�8 T.� =Hz 250 

��*+�� ,�- :kHz 5,75 = Hz 5 750  
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 �#��	 ?<�� ��*< �
�8�S��

)�X(� )� Y�8�+%(  
Bn  =��Z [M?<�� ��*< �5�  Y�8�+%  

M  =3 000 

��*+�� ,�- :kHz 6 = Hz 6 000 
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%@�� ���;3�   
 ?<�� ��*< �
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-�\0�

R).B	  
Bn = 2M 

 3)���8 Y� �5]M ^� 4 000  
)10 000�.�2+�� 
$-�+�� _�6  

@#$N���) `a5��  
M = 4 000 

��*+�� ,�- :kHz 8 = Hz 8 000  
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��$6)(  

Bn = M 

 3)���8 Y� �5]M ^� 4 000 

)10 000
$-�+�� _�6  �.�2+�� 

@#$N���) `a5��  
M = 4 000 

��*+�� ,�- :kHz 4 = Hz 4 000  
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8��5	 
'	�6 ��$6)  

Bn=  − M �$52�'� ..�8 T.� @#$N���) `a5��  
M = 4 500  

 �$52�'� ..�8 T.� =Hz 50 

��*+�� ,�- :kHz 4,45 = Hz 4 450  

  
  
  

4K45J3EGN 

.4C%�w+,���   
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��A��) ���A��  
�b<�c;��) [�*#�� ��$d�8  ITU-R  ��\

 
�b<� ��*< ,)�- ��� �	 
'A��
M��7�Ne� 
7;�� Y�VB�'��� 

� .�-f�*� :625  
 9ge� Q�V�$��� ��*+�� ,�-=MHz 5   

���A�� 
'	�6 h� 
��+��� ��A�� 
'	�6:  
 MHz 5,5  

���A'� i�j0� ��*+�� ,�- :MHz 

6,25 

 k�A�� ��*+�� ,�-FM ��%�*+�� l$C �
 

N��m� :kHz 750  
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 ��+#�� ��*< ,�-RF :MHz 7  750KF3EGN  
.5a#�+��   

n(����'������ 9 ..�8 �$52�� 
 ?<�� ��*+� o�� 
$-���� 
'	�m�
 !" �
O�P 
'	�m� 
���� ��$6)

Y�'	  

Bn = C +
N

2
+   DK  

K = 1,1 

)
$*p 
�$%(  

1 100 = N q'�V Y)�7�'� ra$�. ���#V �s 
352 q'�V 
<��*NE� Y��)�� 
-�N) 60 


#$%��� & ��). .Y)�7��� �$�.)  u8�< �v
0� �*% �( M�w f�*D .�-) 
<��*N
��6).  

1 900 = C 

Hz 400 = D 

��*+�� ,�- :kHz 2,89 = Hz 2 890  
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n(����9'������ x  
 ..��'� 
$-�C 
'	�6 ..�8 �$528
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���� �528 97����
 ��$6) ?<�� ��*< �
$�$;���


8��5	 
'	�6 
��	  

Bn = 2M + 2DK 

M = N

2
  

K = 1,1 

)
$*p 
�$%( 

N = 1 100 

D = 400 Hz  
��*+�� ,�- :kHz 1,98 = Hz 1 980 
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.6K#�� _/   
 
'd) �R).B	 ?<�� ��*<

Y�VB�'�'� 
V�V.��  
Bn = 2C + 2M + 2D   y�7�8 e 
V�V�$C ��..�8MHz 5 �

 ��\ 
$-�C 
'	�6 
��	 @'- ��A��
MHz 6,5
'52	 �..�����   

 
$-���� 
'	�m� z��{� =kHz 50 

C = 6,5 × 610  

D = 50 × 310 Hz 

M = 15 000 

��*+�� ,�- :)13,3 × 610 Hz   
= 13,13 MHz(  

  
  
  
  
  
  
  
  

13M1A8W --  
 �$6�8 `�b< �R).B	 ?<�� ��*<
 L$�#�� M�N�� .�78 �Q�V.��

..����  

Bn = 2M 10  9N�NE� ��*+�� �428 
$8�d ���+%
 ^�kHz 1) kHz 164 

M = 164 000 

��*+�� ,�- :kHz 328 = Hz 328 000  

  
  
  

328KA8E --  
 ��+�'� R).B	 ?<�� ��*<VOR 

 
�8�S���VOR) : Q�V.�� ��+	
��v�|e� }$j & 
V��	 ����
( 

Bn = 2Cmax + 2M + 2DK  

K = 1 

)
$*p 
�$%( 


*N��� 
$�$;��� 
'	�m� �528:  
~   ��\ 
$-�C 
'	�6 
��	Hz 30 

~  Q\ 
�4< ..�8 �- 
|�< 
'	�6 
��	  
Hz 9 960  ��\ 
�4+� �52	Hz 

30  
~  
$�8�v ��+%  
~   ��\ 
�4<Hz 1020 ����	 

������ ������ 
V��� z�7��  
Cmax = 9 960  

M = 30 

D = 480 Hz 

��*+�� ,�- :kHz 20,94 = Hz 20 940 
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 ���+% ��- x
'#��	 ��*< ,)�-
%�� ��-) >�*D�� F$GA8 }	 
$

 .�78 x
V���� J�SW 
$�8�v ���+%
..���� L$�#�� M�N��  

Bn =  [��ZM?<�� ��*< �5�  

 r�#C) 
�(��� 
�b<E� �428 ��.�7�� &
 ���+#'� 
�$#�� ���$8��'�) 
$d���� raX	

ITU-R F.348 ( �� ��$C3 ���+% 
) 
$�8�v15  ��*+�� ,�- Y�5V �
$%�� ��+%

a��`J:  
 kHz 12 = Hz 12 000  

 

 

 

 

 

12K0B9WWF  
7. _/ ����2D ������ R��
AW� }
c%����  

1.7 �������� �
��A�� )�

%@��(  
 ?<�� ��*< �
$8�d ��<a-�

R).B	  
Bn = 2M 

`a(  
M =4 000   

��*+�� ,�- :8 000 Hz=kHz 8K00A3XGN 

2.7 �������� �
��A�� )N�+��� �
��w��(  
���������� 
'��s 
$+	J   Bn = 2M + BK 

1/S = B 

1 = M 

5 = K 

��*+�� ,)�- :Hz 7 7H00A2XAN 

3.7 �������� �=+*�W� )N�+��� �
��w��(  
������ 
'��s 
$+	J ����  Bn = 2M + BK 

s/1 = B 

1 = M 

3 = K 

��*+�� ,)�- :Hz 5  5H00A2XAN 

III-A .������ ��	
� 

.1 ���%,A� 47=�
 N��2D �
7c� �> N�7�� 

 >�*DE� F$GA8 Y). �����) ��+%
��$6)(  

Bn = 2M + 2DK 
M =  B

2
 

K = 1,2  
)
$*p 
�$%( 

B =  100 

D = Hz 85)  
6B6B��Hz 170(  
��*+�� ,�- :Hz 304  

 

  
 

304HF1BBN 

 ��*< ��\ �����	 
-��*� �����
 >�*DE� F$GA8 }	 �c$�) ��+%

��$6)(  

Bn = 2M + 2DK 

M =  B

2
  

K = 1,2 

)
$*p 
�$%( 

B = 100 

D = Hz 85)  
6B6B��Hz 170(  
��*+�� ,�- :Hz 304  

  
 

 

304HF1BCN 

9;�#�<� >��< �����  Bn = 2M + 2DK 

M = 
B

2
 

K = 1,2 

)
$*p 
�$%( 

B = 100 

D  =Hz 85)  
6B6B��Hz 170(  
��*+�� ,�- :Hz 304  

 

 

304HF1BCN 

��..���� 9-��� R).B	 �����  Bn = 2M + 2DK  

B : �$528 M�7	(Bd)��+% [�N�  . �\�

+	�B�	 ���+#�� �<�(:  

= M
2

B )YUC e�)2B = M (  

K = 1,1   
)
$*p 
�$%(  

 ��)����� ��..���� ^� �-����� =Hz 400  

+	�B�	 ���+% 

B = 100  

M = 50 

D = 600 Hz 

��*+�� ,�- :kHz 1,42 = Hz 1 420  

  
  
  
  
  

1K42F7BDX  
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U$�  )���� ������ ���  �
7	
  
_1��  ����AW�  8�	]� 4� ��
�  _1��  

.2 �+
�6W� )����| �
�%.(  

V������ 
�8�S��  Bn = 2M + 2DK 

K = 1  
) �% ��e�m� K7� & ��5� 
$*p 
�$%

 L$% h� 
��6 ��+v Y�58K @'-�( 


V������ 
�8�S�'� 
*N��	 
��m  
D = 5 000 Hz 

M = 3 000 

��*+�� ,�- :kHz 16 = Hz 16 000  

 

 

 

16K0F3EJN  
.3�

%@�� ���;3�  


$8�A�� 
-�\0�  Bn = 2M + 2DK  

K = 1 

)
$*p 
�$%( 

L�Z !"  
D = Hz 75 000  

M = 15 000 

��*+�� ,�- :kHz 180 = Hz 180 000  

  
  
  

180KF3EGN 

.4 a#�+�� 

n(�C 
���� ..��� ����	 �$52�� 
Y�'	 !" x
'	�m�  

Bn = 2M + 2DK 

M = N

2
 

K = 1,1  
)
$*p 
�$%( 

1 100 = N 
$<�X�� & �A+-  
D = 400 Hz  

��*+�� ,�- :kHz 1,98 = Hz 1 980  

 

1K98F1C -- 


$'������ n(����  Bn = 2M + 2DK 

M = N

2
 

K = 1,1 

)
$*p 
�$%( 

1 100 = N 
$<�X�� & �A+-  
D = 400 Hz 

+�� ,�-��* :kHz 1,98 = Hz 1 980  

  

1K98F3C -- 

.5 K#�W� _1�� ) X��Q� �O.�III-B(  
 M�N�� .�78 �Q�V.�� �6�	 `�b<

..���� L$�#��  
Bn = 2fp + 2DK 

K = 1  
)
$*p 
�$%( 

60 ^� 9N�NE� ��*+�� �428 
$�8�v ��+% 
kHz 60) kHz 300 
��7��� 
�$#�� x(rms) 


��	 �( z��{e :kHz 200�	 x 
�
 �+- 
'$���� �����Ne�kHz 331 h� Q.�8 

 q'�V 
$�$;��� 
'	�m� 
���'� M�7C z��{�
kHz 100x  

D = 200 × 310 × 3,76 × 2,02 

    = 1,52 × 610 Hz 

fp = 0,331 × 610 Hz 

��*+�� ,�-:   
(MHz 3,702 = Hz 610 × 3,702) 

 

 

 

 

 

 

 

 

  
 

3M70F8EJF  
 M�N�� .�78 �Q�V.�� �6�	 `�b<

�#��..���� L$  
Bn = 2M + 2DK  

K = 1 

)
$*p 
�$%( 

960428 
$�8�v ���+%  9N�NE� ��*+�� �
 ^�kHz 60) kHz 4 028 
��7��� 
�$#�� x

(rms)
��	 �( z��{e  :kHz 200 x
 �+- 
'$���� 
���� �����Ne� 
��	kHz 4 

715 
���'� M�7C z��{� h� Q.�8 
 q'�V 
$�$;��� 
'	�m�kHz 140x  

D = 200 × 310 × 3,76 × 5,5 

 

 

 

 

 

 

  



 �������ITU-R SM.1138-1  7

U$�  )���� ������ ���  �
7	
  
_1��  ����AW�  8�	]� 4� ��
�  _1��  

= 4,13 × 610 Hz 

M = 4,028 × 610  
fp = 4,715 × 610 

)2M + 2DK(<  2 fp  
��*+�� ,�-:  

)16,32 × 610 Hz = 16,32 MHz(  

 

 

  
  
 

16M3F8EJF  
 M�N�� .�78 �Q�V.�� �6�	 `�b<

..���� L$�#��  
Bn = 2fp 600428 
$�8�v ���+%  9N�NE� ��*+�� �

 ^�kHz 60) kHz 2 540 
��7��� 
�$#�� x
(rms)
��	 �( z��{e  :kHz 200 x

 �+- 
'$���� �����Ne� 
��	kHz 8 500 
 
$�$;��� 
'	�G'� M�7C z��{� h� Q.�8

 q'�VkHz 140x  
D = 200 × 310 × 3,76 × 4,36 

= 3,28 × 610 Hz 

M = 2,54 × 610  

K = 1  
fp = 8,5 × 610 

2M) + > (2DK  2fp  
,�- ��*+��: 17) × 610 Hz  

= 17 (MHz 

 

 

 

 

 

 

 

 

 

 

 

 

 

17M0F8EHF 

 
���� 
$8�A�� 
V�V.���� 
-�\0�
 ��-��	 
$�8�v 
$-�C 
'	�6 }	

M�N�0� �.�7	  

Bn = 2M + 2DK 

K = 1 

)
$*p 
�$%( 

x9'$�. ..��� `�b<  
M = 75 000 

D = 75 000 Hz 

��*+�� ,�- :kHz 300 = Hz 300 000  

  
  
  

300KF8EHF 
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III-B. 8�	] b��7A��� KS�%�� 8�=�� ���� DHN��'�� ���
 s��t� H  
 ������ e
	\�/ X���3� ��A
� ������ �
���/ ��%�\�� ��A�� _1�� E(FM-FDM)  

 ������ ���	�
�FM-FDM�

	�� ��� ���� :  

Bn = 2M + 2DK  

 ���� ���D ��� �� �!"
#$� % &'()�� ""�* +��,� '� -Bn��.�� /�0�  % ���� �1 +��,! ��
#2�� �"/�0�� ��
� " "(����
4
�"�.  

 ""�6� �7��" (���68� ���� "��' ��
9 %fp ���;67� ""�* <=�� ��> M?
6�� ��;�� ��
#�� ��"
#$� )@6* -:  

Bn = 2fp + 2DK 

 �� �.� �7��A�� ���$� �� B*
	�� ����C��� �7�
D� ���$� ���;* ���" �
1 �EF0,25�
1'  ����C��� �7�
D� ""�* +��,! ��
#2�� ���.�� G
 �� ��� �7��A�� ���$� �� �H
	��%70 I
#* J�� ��"
#$� ��K ��
#�� ��"
#$� )@6* -
L ��'
�� '� &
	� �1 +��,! ��7#2�� ���.�� �� 

M6��
6�� M6�"
#$� M� �� ���� N1�:  

Bn = 2fp    '�  Bn = 2M + 2DK  

�
�O� N1�  
  �	�- 8�=�� (1)  


$�8��� ���+#�� .�-   
Nc  

  

    )�)���� �	�-( × antilog 

  

  
  

3 > Nc > 12  

  
    4,47 ×  antilog  

  
  

12 ≥ Nc > 60  

  

3,76 × antilog  2

20

.6 +  2 log N
c

⎡

⎣
⎢

⎤

⎦
⎥  

8�=�� ����(2)  

$�8��� ���+#�� .�-  

Nc  
  

  )�)���� �	�- (×L�V��"�'�� ���#	  

  

  
60 ≥ Nc > 240  

  

3,76 × antilog     

  

Nc 240 ≥  
  

3,76 × antilog   −⎡
⎣
⎢

⎤

⎦
⎥

15

20

 +  10 log N
c  

(1)
  ��O�� a	�- ���#V M)��� ��v &3,76) 4,47 Q)\ �)�\ �	��- 11,5) dB 13,0i����� @'- .  

(2)
  ��O�� �	�- ���#V M)��� ��v &3,76 Q)\ �)�\ �	��- 11,5 dB.  

  ������� �	
���dB 
�� 
�
����� �
���� ������  

 

 20   
 

  ������� �	
�dB
����� ���� ��!�"  ���� #$ %�&
�'�!(� ������ )�* +�,-� �./'  
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 ������� �	
���dB 
�� 
�
����� �
���� ������  

 

 

20  
 



 �������ITU-R SM.1138-1  9

U$�  ��)���� ������ �  �@\�  
_1��  ����AW�  8�	]� 4� ��
�  _1��  

.IV�	
��� ��
����   
.1 ������� 

�52	 !" 9O�< o�  
Bn =

2K

t
 

 �%��8K 
O�+�� ��	 
��< @'- 

O�+�� .�7d �%) h� . }#8)
 ^� `��7�� @'- �S��$%1) 20 

 ��$� �e�m� �	 !X( &)
�| h� 
��� J)6 

 

i)� ��.��  
 
C���� 
<���N� 
��. =m 150 

K = ,51)  o$6 
X'X	 
O�<rt ∼t  & �D�V e �
 �6 ��<�5�� y�%� y�N ����-e�dB 27(  

� �	)"  

  

  

  

  

  

��*+�� ,�- :MHz 3 = Hz 610 × 3  

 

 

 

  
  

 

  
  
  
 

3M00P0NAN  

.2K#�W� _1��  

Q�V.�� �6�	 `�b<  
Bn =  2K

t
  

K = 1,6 

 Q\ 9N�N� ��*+� }���� �$52�� ��O�<36 ��+% 

$8�d 9�A+�� [��8e� 
O�< ��	 x =µs 0,4 

��*+�� ,�- :8) × 610 Hz = 8 (MHz  

)
$�8��� ���+#�� .�- �- �#���� ��*+�� ,�-(  

 

 

 

 

8M00M7EJT 

3 .����23� ����
AW� ����,� 4�w���  
1.3 �������� �
��A�� )�\2� �7v���(  

�	a7� ��$#� 
	������ ��

$+	B�� _#m�  

Bn 

=  2/tR  tR =  ms 1 

��*+�� ,�-: KHz 2 = Hz 2 000 

2K00K2XAN 

2.3 �������� �=+*�W�  
 
$+	B�� ���2'� 
$	�	E� 
C�m�

#m� ��$% & 
	������_
$+	B��  
Bn 

=  2/tR  tR = ms 1  

��*+�� ,�-: KHz 2 = Hz 2 000  

2K00K2XAN 

  

  

__________  

  

  

  

  

 )���1�23� 4�� (× 2   
 >�O�� 
-�N   
    

150 × 2  
810 × 3  
  

s 6−10 × 1  
 

 =t  
  

=  
  

=  
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